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https://chenhsuantu.github.io/1092SA

Lab 5 EEmERNZEREREEE
(using quadrat analysis)

Quadrat Step 1 - fishnet st make grid()
Analysis

Step 2+3 - quadrat counting: st_contain()
Step 4 - calculate mean and variance of counts
Step 5 - hypothesis testing: Variance-Mean Ratio Test (t-test)

Step 6 - make a conclusion
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continuous

The normal distribution N(0, 1)

discrete
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density
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Quadrat Analysis  #HRARDHHXRE  BFREE2HFERSDH > Poissony s ?

cluster

VMR test Variance-Mean Ratio (Index of dispersion - ) uniform random
(t'teSt) - quantify whether a set of observed occurrences are clustered or dispersed >
- assess whether observed data can be modeled using a Poisson process
%) 1
variance VMR - 1
VMR=—, t= , s.e.= df =k —1
mean S.é.

k: # of grids

Chi-square test spatstat::quadrat.test()

k
z x‘_l)z df =k —1

i=1


https://en.wikipedia.org/wiki/Index_of_dispersion

Lab: VMR test

# 1.

# 2.

=

3.

RE I H&Z RS km

Fishnet l
grid = st _make grid(school, 5000)
k=length(grid)

grid = st _sf(grid,ID=1:k)

Quadrat Counting
school in grid=st contains(grid, school)
count = lengths(school in_grid)

VMR Test
variance=var(count)

mean= mean(count)

VMR = variance/mean

se = sqrt(2/(k-1))

t = (VMR-1)/se

> T8 tHp-value GEEEZE)

> st _contains(grid, school)

: (empty) #255 1EMERPE o ERL
: 22, 23, 24, 113

. 116, 117, 118, 119, 423

. 121, 146, 313, 400, 417

: 144, 188  #EES{ENEEHE 2 (@RS
> lengths(school in_grid)

[1] © 4 5 5 2

U'I-PUJI\)I—\



